1. (Antié)

Rijesite zadani sistem P-DELTA postupkom:

EI = 20250 kNm?
¢ = 50,0 kN/m’
F; = 1000,0kN,  F, = 125,0kN

I do
B A 4EI AEI 1B
EI EI
NN NN\
-0 > -0
2. (Celar)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
g = 50,0 kN/m’
Fy =1000,0kN, F, =125,0kN
I do
. WHHITHH .
R, N 4FI 4ET 4RI ™™
EI EI
NN TN
\ 3 \ 5 \ 3




3. (Fabijani¢)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?
o = 50,0 kN/m’
F, = 1000,0 kN,

Fp = 125,0kN

2 do
S T .
R, Y 4FEI 4FET 4E] ™
EI EI
TR KN
\ 3 \ 5 \ |
[ [ [ |
4. (Gunjaca)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
I 4o
_ I
B & 1EI 1ET 1E]
EI EI
TR BN
| 3 | 5 3




5. (Ivi¢)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
40
B A AEI =Y
EI
NS NS
| | 5 | 3 |
[ [ [ |
6. (Jajcevic)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
qo0
. W .
JZARrAN AE] 1B
EI
B A
| 5 | 3




7. (Kirincic)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
m do
- i
SV 1ET AiEI 2SR
EI EI
BN BN
\ 3 5 \ 3 \
[ [ |
8. (Kopjar)
Rijesite zadani sistem P—DELTA postupkom:
ET = 20250 kNm?
go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
) 4do
- LT .
S AEI AEI AEI &2 B
ET EI
KN NS
\ 3 ) \ 3 \




9. (Liska)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
m do
- T
SV 1ET LBl 2 L,
EI EI
SN TR
- 2 -
10. (Lovri¢)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
go = 50,0 kN /m’
F, = 1000,0kN,  F, = 125,0kN
) 4do
. T 3
S AET AET i1FI & B
El EI
TR TR
| 3 5 3 |




11. (Malkog¢)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

go = 50,0 kN /m’
Fy =1000,0kN,  F, = 1250kN
I do
F, N 4FEI 4ET AR ™
EI EI
K TR
\ 3 \ 5 \ 3 |
12. (Nasié)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
g0 = 50,0 kN/m’
F, = 1000,0kN, [, = 125,0kN
I 4o
_ I
B & 1EI 1EI 1ET
EI EI
NN NN
\ 3 \ 5 \ 3




13. (Palajsa)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

g0 = 50,0 kN/m’
Fy = 1000,0kN, F, = 125,0kN
I do
W .
P & 4El 1E] 1Bl
EI EI
KN NS
\ 3 \ 5 | 3 |
14. (Peronja)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
g0 = 50,0 kN/m’
F, = 1000,0kN, F, = 125,0kN
I 4o
_ I
B &S 4Rl AEI 1Bl &
EI EI
o o
3 \ 5 \ 3 \




15. (Petri¢)

Rijesite zadani sistem P-DELTA postupkom:

ET = 20250 kNm?

o = 50,0 kN/m’
Fy = 1000,0kN, F, = 125,0kN
I do
B A 4EI AEI 1ET
EI EI
KN NS
| 1 > -
16. (Rodi¢)
Rijesite zadani sistem P-DELTA postupkom:
ET = 20250 kNm?
o = 50,0 kN/m’
F, = 1000,0kN, F, = 125,0kN
) 4q0
. W .
F, % 4EI 4EI 4EI T
EI EI
TN T
3 \ 5 \ 3 |




17. (Vucetic)

Rijesite zadani sistem P-DELTA postupkom:

EI = 20250 kNm?
¢ = 50,0 kN/m’
F; = 1000,0kN,  F, = 125,0kN

I do
SRl AET 1Bl & h
EI EI
NN NSNS
\ 3 \ 5 \ 3




